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Writing

Directions: For this part, you are allowed 30 minutes to

write a composition of no less than 100 words on Changes in

i People’s Diet. :
Study the following table cérefully and your composition

must be based on the information given in the table. Write

three paragraphs to. .
(1) state the changes in people’s diet (4 4") in the past

five years; .
(2)give possible reasons for the changes;

(3)draw your own conclusions.

“You should qubte as few figures as possible.



K Year ; , 3
1986 | 1987 | 1988 | 198y | 1990

Food ™\ ; . i
Grain a9%.  47% 146.5% | 45% | 45%
Milk 10%  i1% ; 11% : 12% | 13%
Meat | 17% . 20% 122.5% | 23% | 21%

Fruit and .
FHTARE gy oopwg | o20% 1o 20% | 21%

Vegetables : |
Total | 100% | 100% | 100% | 100% | 100%

L] A B SR e R R A 2 A AL T LA L . A
=L A AN I N T g T 1 i ok S AN S R s &
W, REE Z IR sk A BT RBOA A BILA K 7B
TR, {EL 755 WM R A SR

&6y 1

2 5% . G TR BESIREL. W E R, AR
AT IR BB R . '

Diet is very important in people’s life. In past five.there
is a big change in all kinds of food. For example,Grain.In
1986 it takes 49 per cent in diet in after four years. It dis-
crease 4 per cent in diet :Milk increase 4 per cenr in last five
years. It grows to 13 per cent in diet:Meat in 1986 —1988.it
kept to grow up- And in 1990.]t.down 2 per centsFrut and
vegetables is discrease in last {ive years.

Why it will have these changes. It is two side. The {irst
is people began to see that milk.meat.fruit and Vegetables

4



are very importance in people’s bodies,the other is people’s
life is quite good. They have enough money to buy Meat,
Milk.etc. They know how to build them bodies.

In last five years. Big changes in People’s Diet. It call us
more and more people know. Share them Diet and build
them bodies.

& 2

5%, VAT BEAYE ., REBERHE EFHEE AR
LGS HiR.

In the past {ive years,people’s diet was changed. Grain.
the main part of diet,was less needed from 49 per cent to 45
per cent of people’s diet toral. Much more milk and meat
went into people’s lives. Fruit and vegetables are less needed
by people.

Onc can’t eat grain all day. As life changes and one’s
body needs,milk and meat certainly take more per cent of
our diet. Afraid of being {at,many woman cat .less meat and
misses refuse to take meat. So in the last year.mear is less
needed.fruit and vegetables are more needed by peopic per-
haps by that reason.

In the past five years .we could see that people’s live are
have become better just from their diet changes.

3'!!9'] 3

8 7o VI  JEA NG, 5 Bl 7 ik BB RS i
FHAM Y 2 AP AR AR . SCFRTER,

In the past five years peopie’s diet had changed quite a
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lot. The grain was no longer the main food of peapl’s diet. It
decreased from 49% to 45%. And the position of the fruit
and vegetables was declined,either. But,however,the neces-
sary of the milk and meat was increased with no doubt. Such
case owned to two reasons. On the one hand, the level of
people’s livgs had greatly advanced. More and more people
could affordthe expensive food. On the other hand . modern
science had been developed with high speed. Then people be-
gan to be aware of choosing more useful food.

With the developing of the society, people’s diet will

change more greatly.

3 4

114y, PPiB . ACYE. #ABEEE. XFER.EF5
—HEFHIR.

" Diet is very important in people’s lives. Sufficient food
is the basis of human activity. In the past five years,people’s
diet had changed more or less. We can draw some conclu-
sions according to the statistics.

From the figures,we can see easily that, the propotion
of grain,fruit and vegetables has decent a little,while that of
milk ,meat has rised. We can conclude that nowdays,pedple
pay attention to not only the quantity but also the quality of
the food. milk and meat are very important to people’s
health. With the development of the life level, people now
can afford to buy more milk and‘ meat than before,for milk
and meat is more expensive than other food. Consequently .

6



the proportion of grain,fruit and vegetables decent.

But we also can find, that the structure of diet has
changed little in the past five years‘..The grain always acted
as the main fobd ,and milk,meat still took up the poor pro-
portion. So people’s diet still depends on the grain. So what
we should do is-rapidly develop the national economy so as
to provide more milk and meat for the people.

&6l 5

14 4y . VEIE A YN, RIX BRI R , O8N . E BT
BiF. BELEESTHR, NEMNDME. FILAXFERR

In the past five years, there have been changes in
people’s diet..' Grain, as the main food of most Chinese, is
now playing a less important role in peoplé’s diet,while the
proportion of some high-energy food,such as milk ,meat has
increased. v

What caused these changes? I think there are two rea-
sons. First, people now have .more money. The price of meat
and milk is much higher than that of grain. In the old days,
people couldn’t afford them. Now they have enough money
to buy meat and milk. Second,people of nowadays pay more
attention to the structure of their diet. They are seeking the
most reasonable diet structure which will do good to their
health.’

In short,there have been changes in people’s diet in the
past five years and there will be changes in the future,too.

7
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‘Writing

Directions: for this part,you are allowed 30 minutes to
write a composition based on the Jollowing graph showing the
gﬁnuth of the world’s poulation. The oferu'ng sentence is giv-
en and you are required to develop it into a full composition.
Your part of writing should be no less than 120 words. Some
useful words and phrases are provided,but you do not have
to include all of them.

li . 7000 million
6000
N G A A S PP AP D W Ben B Gmee G W e
0
e e e e m e e e ———— — 9!8;. 500
4000

{‘-——-—-.——-—.——-.— —-— ams  wd

; : Emergence of modern medicine—1850 . ,'”)I 3000

:_— e gwe S S e e Sy

Industnal and Agricultur,
= R-vc;r-lons Ee%n_lﬁﬂs-() - *“ =< 1000

- - o - ° .
100C ' -1-500 A D - 2000 A.D
Graph showmg the growth of the world’s population (Sug-

gested words and phrases:birth control ,death rate, popula-

tion explosion,food shortage)

The Problem of Human Poppiation
It has been estimated that a thousand years ago there
were less than 400 million people on earth.
10
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It has been estimated that a thousand years ago there
were less than 400 million people on earth. But now can you
believe that there are more than 6,000 million people on the
same place. Let’s show you kind of the problems too much
people brings. »

Though the earth has a lot of substance for human be-
ings,it is limited No end increasing of people will made food
shortage and war will break to get more food. On the other
hand, population explosion cause that more and more chil-
dren couldn’t be educated and the human being can advance.

How to avoid the terrible matter happen is a problem '
for most people. In China, birth control principle has been
done and the speed of people increasing has been controlled.
If most of countries in the garth do just like China, the terri-
ble matter will not happen.

36 2

841, Wik Ezli%:iﬁx ZAEER HERATRRAL
A AT BT AR R FE, ERA G ER A
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It has been estimated that a thousand years ago there
were less than 400 million people on earth. But with the de-
velopment of human society, he world’s population is in-
creasing fast. When the industrial and agricultural revolu-
tions began in 1650.the world’s population was less than
10v million. In 1850, emergence of modern medicine. there
were up to 1000 million people on earth. This is a great
problem to be solved.

In part.there are more and more people on earth. But in
part the earth’s nature resources are more and more short-
age. We must take steps to control population.

In China we take birth control all over the country. We
know there are the most people in China. As the birth rate 1s
more than death rate.the proplem of population has prevent-
ed the development of economy. It has made traffic problem.
house problem,education problem and so on.

Although the problem of human population has been
population explosion.we are able to overcome it.

=5y 3 A :

11 5+, HiE. BB R ME R NE RIBHE.
YEHE AT A DR RBP4 19 T A 1 B
AL 0B, WHEALIE SR,

It has been estimated that a thousand years ago there
were less than 400 million people on earth. It can be scen
from the graph that since the Industrial and Agricultural
Revolution in 1650 the world’s population increased quickly
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